The Chernobyl Nuclear Disaster

The Chernobyl nuclear disaster occurred on April 26th 1986.  Chernobyl is a nuclear power plant in Ukraine supplying power to the Ukraine and Russia 

Activity 

1. Now turn to page 17 of the atlas and shade in and label the Ukraine on the map of Europe (Clue- it is near the Black Sea).
Sequence of events:

On 26th April, one of the reactors in the power plant overheated and two explosions occurred, immediately killing the technicians.  Radioactivity is extremely damaging to the human body and can cause serious birth defects and cancers.
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A second reactor then became very unstable and a sudden increase in temperature caused the nuclear fuel to rupture and a steam explosion occurred with the water that was supposed to cool the reactor.  Two minutes later, a second explosion occurred and blew the top off the reactor releasing clouds of deadly radioactive material into the air for over 10 days.

Thirty plant workers were killed immediately from the explosions and since then there has been 10 deaths from Thyroid cancer directly related to the accident.  209 people on the site were treated for acute radiation poisoning, and more than 600,000 people that were involved in the clean-up are now dead or sick. 

In May, 45,000 people that lived within 10km were evacuated from the area and are now living in a different area.  Reactor four is now shielded in concrete casing and the rest of the plant continues to operate.  There are many arguments to using nuclear power today because as waste it can be extremely damaging to the environment and because of the risk of explosions such as Chernobyl.
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After reading this information, you should now be able to complete the following 



2. Either write or cut and stick the correct order of events into the flow chart below and then stick it into your exercise book.





3. What do you think the environment in and around Chernobyl is like now?

----------------------------------------------- Cut here ----------------------------------------------------

The Chernobyl Nuclear Disaster








A second becomes unstable and a steam explosion occurs.








A nuclear reactor overheats and explodes killing the technicians





A second explosion occurs, blowing the top off the reactor.





45,000 people living within 10km of the plant are evacuated.





Clouds of deadly radioactive material stays in the air for 10 days.








